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sO2 [NO, | Cl |[NH, [Na | K [ca |wmg
mm/ mS/m u mol/I
(36) | (1,285) [(4.57)| (3.30) |(39.8) | (45.6) | (42.0) | (54.4) | (28.6) | (2.1) |(13.7) | (5.0)
(52) | (1,300) [(4.89)| (3.83) |(52.2) |(52.0) | (51.4)|(86.0)| (34.7) | (2.6) |(18.8) | (6.9)
68) | 2,402 |4.57| 3.15 | 36.3 | 37.4 | 25.9 | 16.2 | 22.5 | 3.1 | 143 | 4.9
(60) | 1,303 |4.85| 3.76 | 44.8 | 56.7 | 53.3 | 47.1 | 43.8 | 3.4 | 25.3 | 9.0
(216) (4.73)| (3.51) | (43.1)|(47.7) | (42.4) | (48.1) | (32.4) | (2.9) | (18.4) | (6.5)
12 (232) (4.86)| (3.24) | (40.1)|(45.7) | (48.5) | (54.4) | (36.2) | (3.9) | (19.3)| (6.8)
12 4 5
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( mmo1/m? )
(38.1) | (35.1) | (33.2) | (43.4) | (21.2) | (1.7) | (6.9) | (3.4) | (45.4)
(36.1) | (26.5) | (41.2) | (49.6) | (23.8) | (1.7) | (7.9) | (5.5) | (30.0)
34.1 18.5 22.0 7.1 17.8 3.1 7.2 3.1 52.9
27.1 21.0 52.5 20.9 43.0 2.3 8.1 5.9 29.7
(33.9) | (25.3) | (37.2) | (30.2) | (26.5) | (2.2) | (7.5) | (4.5) | (39.5)
12 (40.6) | (36.6) | (57.5) | (49.7) | (43.1) | (3.3) | (12.6) | (6.4) | (36.5)
12 4
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(EC)
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\)\ H & | 3_| . | 4
( mS/m u mol/m? g/m?

(11) |(5.17)| (2.03) | (345) | (394) | (326) | (315) | (383) | (64) | (644) | (96) | (539)

(10) | (5.97)| (2.53) | (522) |(372) | (689) | (462) | (462) | (91) |(1130)|(158)| (988)

(12) | 5.48 | 1.15 152 | 135 | 211 | 122 | 157 98 348 52 487

(12) | 5.77 | 2.72 | 402 | 522 | 683 | 300 | 675 88 849 | 159 864

(45) | (5.60)| (2.11)| (355) | (356)| (477)| (300) | (419)| (85) | (743)| (116)| (719)

(46) | (6.03)| (2.07)| (349) | (386)| (554) | (273)| (476)| (80) | (781)| (129)| (719)

12 4 5
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2 4 6 8 1012 14 16 18 20 22 24 5 10 15 20 25
17 18
13
pH SO~ | NO; | CI NH,” | Na* | K' | Ca® | Mg*
mS/m u mol/I
5.74 | 12.79 | 266.9 | 175.5| 111.0 | 17.3 [ 422.7 | 123.7| 95.0 | 63.5 | 74.4 ]1350.1
7.02 | 39.87 |1085.5| 693.6 | 444.4 | 160.7 | 625.1 | 401.1 | 235.2 | 426.6 | 66.6
3.79 | 1.77 | 31.4 | 33.1 | 11.7 | 0.0 | 84.2 | 6.7 | 10.2 | 5.4 2.5
12 6.58 | 7.58 | 63.2 | 20.6 |225.0| 0.3 [141.2|224.8| 72.3 | 25.3 | 32.3 | 805.0
446 | 3.92 | 43.6 | 428 | 245 | 59.9 | 229 | 22.1 | 3.3 | 11.6 | 4.7 |235.3
1.3 3.3 6.1 4.1 4.5 03 | 185 | 5.6 | 28.7 | 55 | 15.7 | 5.7
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